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BIRZEIT UNIVERSITY
Faculty of Engineering
Mechanical Engineering Department g T\'S 1[
Fluid Mechanics - ME 335 .
/
Instructor: Mr. Adel Dweik Summer Semester 2011/2012

1* Hour Exam
] : ;i

Problem #1: (15 %) f!

=
A solid cylinder having a mass of 1 kg, 60mm diameter and I: bt 1, =
a length of 100 mm slides down a 62 mm diameter pipe | crEndes :, '
as shown in figure 1.An oil having viscosity of 0.08 Nsim® |} | 1l )
keeps the cylimder concentric in the pipe. :| ] il
Determine the terminal velocity of the falling cylinder. |, ,:
Fig1 || t

Problem #2; (20%)

/ a).Ir Fig.2a; an open tube is connected to a tank.
The water rises to a height of 900 mm in the tube. % e
A tube used in this way is called Piezometer. ;
What are the pressures P, and Py of the air
above the water? (Ypaer = 9790 N/m’)

Fig.2a

b) A block of wood having a volume 34 m’
and weighing”@m s suspended in water
as shown in Fig.2b. A wooden rod of length 3.4 m

and cross section of 200Qnm?” is attached to the
weight and also to the wall. If the rod weighs 16 N,
what will the angle @ be for equilibrium?

Fig.2b

Problem #3: (15 %)

Jq’?}\'f é ” The gate AB in Fig.3 weighs 2000 1bf when submerged.
It is hinged at B and rests against a smooth wall at A,
Determine the water level (h) which will
just cause the gate to open.

Yoazes = 62.4 1bf /£t
Fig.3
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